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1 SRS 16 | FAR 320 5,120

2 E LA 9 FAR 320 2,880

3 H# & 9 FHER 320 2,880

4 EHEY 9 FAR 320 2,880

5 H# & 9 FHER 320 2,880

6 EHEY 32 | FAR 320 | 10,240

7 EHEY 18 | FAR 320 5,760

8 SRS 18 | FAR 320 5,760 £
9 HELY () 25 | FAHR 320 8,000

10 E LA 6 FAR 320 1,920

11 SRS 6 FHER 320 1,920 £
12 | HEAY (BERE) | 64 | FAR 320 | 20,480




13 E & LA 9 | FHFR 320 | 2,880
14 SikV 9 | FHR 320 | 2,880
e
15 % 9 FHR 320 2,880
16 | BE#E (1) 25 | AR 320 | 8,000
17 % 4 FHR 320 1,280
18 E & A4 4 | AR 320 1,280
19 E B A% 4 | FHFR 320 1,280
20 % 4 FHR 320 1,280
21 E @5 4 | FHFR 320 1,280 W
22 E & LA 4 | FHFR 320 1,280
23 % 9 F AR 320 2,880
24 E &5 9 | FHR 320 | 2,880
25 % 4 F AR 320 1,280




26 SikVS 16 | FHR 320 | 5,120
27 E &5 9 | FHR 320 | 2,880
28 E LA 4 FHR 320 1,280
29 SikV 4 | FHFR 320 1,280
30 E &5 9 | FAR 320 | 2,880
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